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10cm 11cm 12cm

A=

P=

e :
\Area and Perimeter )

Find the area (4) and perimeter (P) of each shape.

1cm
g 2 =1 cm?
Tcm
1cm 2cm 3cm
1cm?2| 2cm? | 3cm? S b. C
4cm?| 5cm? | 6 cm? §
7cm?2 8cm? | 9 cm? :
3
9cm 8cm 7cm
9 sz A= A=
12 cm P= P=
e. f
A= A=
P: P:
h. i
A= A:
P= P=
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ANSWER KEY

~

e :
\Area and Perimeter )

Find the area (4) and perimeter (P) of each shape.

1cm
5 2 =1 cm?
Tcm
Tcm 2cm 3cm
£ IS
c.; 1ecm?2| 2cm?2 | 3cm? g b. C
E (3, ]
o 4cm?| 5cm? | 6 cm? g
£ o~
g 7cm?2 8cm? | 9 cm? S
9cm 8cm 7cm
4. 9cm? 4-  4cm? 4- 7cm?
p=_12cm p= 10cm p= 12cm
e. f
4-_ 5cm? 4- 7cm? 4- 8cm?
p= 10cm p= lécm p= 12 cm
h. i
4. bcm? 4- 5cm? 4= 4cm?
p= 12cm pP= 12 cm pP= 10 cm
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